On some properties of certain subclasses of univalent functions

A.H. El-Qadeem D.A. Mohan* Department of Mathematics Faculty of Science Zagazig University Zagazig 44519, Al-Sharkia Egypt ahhassan@science.zu.edu.eg mohan_dhia@yahoo.com

Abstract. This study interested in two subclasses of analytic functions defined on the open unit disc of the complex plain, we discuss some neighborhood properties, integral means inequalities and some results concerning the partial sums of the functions belonging to these subclasses.

Keywords: analytic function, neighborhood, integral means, partial sums.

1. Introduction

Let T denoted to class of function of the form

(1.1)
$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k \quad (a_k \ge 0),$$

which are analytic function in the open disc $U = \{z \in \mathbb{C} : |z| < 1\}$.

We denote by $T^*(\alpha)$ and $C(\alpha)$ the subclasses of starlike functions of order α , and convex functions of order α , respectively. Theses two subclases are defined by Silverman [11] as following:

(1.2)
$$T^*(\alpha) = \left\{ f \in T : \Re\left\{\frac{zf'(z)}{f(z)}\right\} > \alpha \quad (0 \le \alpha < 1; z \in U) \right\},$$

and

(1.3)
$$C(\alpha) = \left\{ f \in T : \Re \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \alpha \quad (0 \le \alpha < 1; z \in U) \right\}.$$

For $\mu > 0$ and $a, c \in \mathbb{C}$, are such that $\Re\{c - a\} \ge 0$, Raina and Sharma [9] (see also [3], [4]) defined the integral operator $J_{\mu}^{a,c} : T \longrightarrow T$, as following:

^{*.} Corresponding author

(i) for $\Re\{c-a\} > 0$ and $\Re\{a\} > -\mu$ by

(1.4)
$$J^{a,c}_{\mu}f(z) = \frac{\Gamma(c+\mu)}{\Gamma(a+\mu)\Gamma(c-a)} \int_{0}^{1} (1-t)^{c-a-1} t^{a-1} f(zt^{\mu}) dt$$

(ii) for a = c by

(1.5)
$$J^{a,a}_{\mu}f(z) = f(z),$$

where Γ stands for Euler's Gamma function (which is valid for all complex numbers except the non-positive integers).

For f(z) defined by (1.1), it is easily from (1.4) and (1.5) that: (1.6)

$$J^{a,c}_{\mu}f(z) = z - \frac{\Gamma(c+\mu)}{\Gamma(a+\mu)} \sum_{k=2}^{\infty} \frac{\Gamma(a+k\mu)}{\Gamma(c+k\mu)} a_k z^k \quad (\mu > 0, \Re\{c\} \ge \Re\{a\} > -\mu).$$

Let $M^{a,c}_{\mu}(\alpha; A, B)$ be the subclass of functions $f \in T$ for which:

(1.7)
$$\frac{z(J^{a,c}_{\mu}f(z))'}{J^{a,c}_{\mu}f(z)} \prec (1-\alpha)\frac{1+Az}{1+Bz} + \alpha \qquad (-1 \le B < A \le 1, 0 \le \alpha < 1),$$

that is, that

(1.8)
$$M^{a,c}_{\mu}(\alpha; A, B) = \left\{ f \in T : \left| \frac{\frac{z(J^{a,c}_{\mu}, cf(z))'}{J^{a,c}_{\mu}, cf(z)} - 1}{B\frac{z(J^{a,c}_{\mu}, cf(z))'}{J^{a,c}_{\mu}, cf(z)} - [B + (A - B)(1 - \alpha)]} \right| < 1, z \in U \right\}.$$

Also, let $N^{a,c}_{\mu}(\alpha; A, B)$ be the subclass of functions $f \in T$ for which:

$$1 + \frac{z(J^{a,c}_{\mu}f(z))''}{(J^{a,c}_{\mu}f(z))'} \prec (1-\alpha)\frac{1+Az}{1+Bz} + \alpha,$$

form (1.7) and (1.8), it is clear that

(1.9)
$$f(z) \in N^{a,c}_{\mu}(\alpha; A, B) \iff zf'(z) \in M^{a,c}_{\mu}(\alpha; A, B).$$

It is easily to see that:

(i) $M^{a,a}_{\mu}(\alpha; A, B) = T^*(A, B, \alpha)$ and $N^{a,c}_{\mu}(\alpha; A, B) = C(A, B, \alpha)$, see [2, with p = 1];

(ii) $M^{a,a}_{\mu}(\alpha;\beta,-\beta) = T^*(\alpha,\beta)$ and $N^{a,a}_{\mu}(\alpha;\beta,-\beta) = C(\alpha,\beta)$ the subclasses of starlike and convex of order $0 \le \alpha < 1$ and type $0 < \beta \le 1$, see [6];

(iii) $M^{a,a}_{\mu}(\alpha; 1, -1) = T^*(\alpha)$ and $N^{a,a}_{\mu}(\alpha; 1, -1) = C(\alpha)$ the subclasses of starlike and convex of order $0 \le \alpha < 1$, see [11].

The object of the present paper is to determine the neighborhood properties for each of the subclasses $M^{a,c}_{\mu}(\alpha; A, B)$ and $N^{a,c}_{\mu}(\alpha; A, B)$. Moreover, investigate integral means inequalities, and some results concerning partial sums for functions belonging to the subclass $M^{a,c}_{\mu}(\alpha; A, B)$. We will make use of the following lemmas, also otherwise mentioned, we assume in the reminder of this paper that, $0 \le \alpha < 1, -1 \le B < A \le 1, \mu > 0$, $a, c \in \mathbb{R}, c > a > -\mu$ and $z \in U$.

Lemma 1 ([8]). Let the function f(z) be given by (1.1). Then $f \in M^{a,c}_{\mu}(\alpha; A, B)$, if and only if

(1.10)
$$\sum_{k=2}^{\infty} \left[(1-B)(k-1) + (A-B)(1-\alpha) \right] \frac{\Gamma(a+k\mu)}{\Gamma(c+k\mu)} a_k$$
$$\leq (A-B)(1-\alpha) \frac{\Gamma(a+\mu)}{\Gamma(c+\mu)}.$$

Lemma 2 ([8]). Let the function f(z) be given by (1.1). Then $f \in N^{a,c}_{\mu}(\alpha; A, B)$, if and only if

(1.11)
$$\sum_{k=2}^{\infty} \left[(1-B)(k-1) + (A-B)(1-\alpha) \right] \frac{\Gamma(a+k\mu)}{\Gamma(c+k\mu)} k a_k$$
$$\leq (A-B)(1-\alpha) \frac{\Gamma(a+\mu)}{\Gamma(c+\mu)}.$$

2. Neighborhood results

Following the earlier investigations of Goodman [5] and Ruscheweyh [10], the δ - neighborhood is defined as following:

(2.1)
$$N_{\delta}(f) = \left\{ g \in T : g(z) = z - \sum_{k=2}^{\infty} b_k z^k, \sum_{k=2}^{\infty} k |a_k - b_k| \le \delta \right\}.$$

For the identity function e(z) = z, we immediately have

(2.2)
$$N_{\delta}(e) = \left\{ g \in T : g(z) = z - \sum_{k=2}^{\infty} b_k z^k, \sum_{k=2}^{\infty} k |b_k| \le \delta \right\},$$

where the function f is given by (1.1).

Theorem 1. If the function f(z) defined by (1.1) is in the subclass $M^{a,c}_{\mu}(\alpha; A, B)$.

Then $M^{a,c}_{\mu}(\alpha; A, B) \subset N_{\delta}(e)$, where

(2.3)
$$\delta = \frac{2\Gamma(a+\mu)\Gamma(c+2\mu)(A-B)(1-\alpha)}{\Gamma(c+\mu)\left[(1-B)+(A-B)(1-\alpha)\right]\Gamma(a+2\mu)}$$

Proof. Since $f \in M^{a,c}_{\mu}(\alpha; A, B)$, by using Lemma 1 and from (1.10), we find

$$\frac{\Gamma(c+\mu)\left[(1-B)+(A-B)(1-\alpha)\right]\Gamma(a+2\mu)}{2\Gamma(a+\mu)\Gamma(c+2\mu)}\sum_{k=2}^{\infty}ka_k\leq$$

$$\sum_{k=2}^{\infty} \left[(1-B)(k-1) + (A-B)(1-\alpha) \right] \frac{\Gamma(a+k\mu)}{\Gamma(c+k\mu)} a_k \le (A-B)(1-\alpha).$$

It is clear

$$\sum_{k=2}^{\infty} ka_k \le \frac{2\Gamma(a+\mu)\Gamma(c+2\mu)(A-B)(1-\alpha)}{\Gamma(c+\mu)\left[(1-B)+(A-B)(1-\alpha)\right]\Gamma(a+2\mu)} = \delta.$$

Corollary 1. If $f \in T$ is in the class $T^*(A, B, \alpha)$. Then

 $T^*(A, B, \alpha) \subset N(e),$

where

$$\delta = \frac{2(A-B)(1-\alpha)}{(1-B) + (A-B)(1-\alpha)}.$$

Corollary 2. If $f \in T$ is in the class $T^*(\alpha, \beta)$. Then

 $T^*(\alpha,\beta) \subset N(e),$

where

$$\delta = \frac{4\beta(1-\alpha)}{1+2\beta(2-\alpha)}.$$

Corollary 3. If $f \in T$ is in the class $T^*(\alpha)$. Then

$$T^*(\alpha) \subset N(e),$$

where

$$\delta = \frac{2(1-\alpha)}{2-\alpha}.$$

by similarly applying Lemma 2 instead of Lemma1, we can prove following.

Theorem 2. If the function f(z) defined by (1.1) is in the subclass $N^{a,c}_{\mu}(\alpha; A, B)$. Then $N^{a,c}_{\mu}(\alpha; A, B) \subset N_{\delta}(e)$, where

(2.4)
$$\delta = \frac{\Gamma(a+\mu)\Gamma(c+2\mu)(A-B)(1-\alpha)}{\Gamma(c+\mu)\left[(1-B)+(A-B)(1-\alpha)\right]\Gamma(a+2\mu)}.$$

Corollary 4. If $f \in T$ is in the class $C(A, B, \alpha)$. Then

$$C(A, B, \alpha) \subset N(e),$$

where

$$\delta = \frac{(A - B)(1 - \alpha)}{(1 - B) + (A - B)(1 - \alpha)}.$$

Corollary 5. If $f \in T$ is in the class $C(\alpha, \beta)$. Then

 $C(\alpha,\beta) \subset N(e),$

where

$$\delta = \frac{2\beta(1-\alpha)}{(1+\beta) + 2\beta(1-\alpha)}$$

Corollary 6. If $f \in T$ is in the class $C(\alpha)$. Then

 $C(\alpha) \subset N(e),$

where

$$\delta = \frac{1 - \alpha}{2 - \alpha}.$$

We will determine the neighborhood properties for each of the following (slightly modified) function subclass $M^{a,c,\rho}_{\mu}(\alpha; A, B)$. A functions $f \in T$ is said to be in the class $M^{a,c,\rho}_{\mu}(\alpha; A, B)$ if there exists a

function $g \in M^{a,c}_{\mu}(\alpha; A, B)$ such that

(2.5)
$$\left| \frac{f(z)}{g(z)} - 1 \right| < 1 - \rho \quad (z \in U; 0 \le \rho < 1).$$

The proofs of the following results involving the neighborhood properties for the subclass $M^{a,c,\rho}_{\mu}(\alpha; A, B)$, is similar to those given in [1].

Theorem 3. If $g \in M^{a,c}_{\mu}(\alpha; A, B)$. Suppose also that

(2.6)
$$\rho = 1 - \frac{\delta\Gamma(c+\mu)[(1-B)+(A-B)(1-\alpha)]\Gamma(a+2\mu)}{2[\Gamma(c+\mu)[(1-B)+(A-B)(1-\alpha)]\Gamma(a+2\mu)-\Gamma(a+\mu)(A-B)(1-\alpha)\Gamma(c+2\mu)]}$$

then

$$N_{\delta}(g) \subset M^{a,c,\rho}_{\mu}(\alpha; A, B).$$

Proof. let f(z) be in $N_{\delta}(g)$. We then find from the definition (2.1) that

(2.7)
$$\sum_{k=2}^{\infty} k \left| a_k - b_k \right| \le \delta_k$$

since $g \in M^{a,c}_{\mu}(\alpha; A, B)$, we have

$$\sum_{k=2}^{\infty} b_k \le \frac{\Gamma(a+\mu)(A-B)(1-\alpha)\Gamma(c+2\mu)}{\Gamma(c+\mu)\left[(1-B)+(A-B)(1-\alpha)\right]\Gamma(a+2\mu)}$$

so that

$$\begin{aligned} \left| \frac{f(z)}{g(z)} - 1 \right| &< \frac{\sum_{k=2}^{\infty} |a_k - b_k|}{1 - \sum_{k=2}^{\infty} b_k} \\ &\leq \frac{\delta}{2} \frac{\Gamma(c+\mu)[(1-B) + (A-B)(1-\alpha)]\Gamma(a+2\mu)}{\Gamma(c+\mu)[(1-B) + (A-B)(1-\alpha)]\Gamma(a+2\mu) - \Gamma(a+\mu)(A-B)(1-\alpha)\Gamma(c+2\mu)} \\ &= 1 - \rho, \end{aligned}$$

provided that ρ is given precisely by (2.6). Thus, by definition, $f \in M^{a,c,\rho}_{\mu}(\alpha; A, B)$ for ρ given by (2.6). This evidently completes our proof of Theorem 3.

A function $f \in T$ is said to be in the class $H^{a,c}_{\mu}(\alpha, \phi; A, B)$ if it satisfies the following non-homogeneous Cauchy-Euler differential equation:

(2.8)
$$z^{2} \frac{d^{2} f}{dz^{2}} + 2(\phi+1)z \frac{df(z)}{dz} + \phi(\phi+1)f(z) = (1+\phi)(2+\phi)g(z)$$
$$(g \in M^{a,c}_{\mu}(\alpha; A, B); \phi > -1)$$

Theorem 4. If $f \in T$ is in the class $H^{a,c}_{\mu}(\alpha,\phi;A,B)$ then

(2.9)
$$H^{a,c}_{\mu}(\alpha,\phi;A,B) \subset N_{\delta}(g),$$

where

(2.10)
$$\delta = \frac{4\Gamma(a+\mu)(A-B)(1-\alpha)\Gamma(c+2\mu)}{\Gamma(c+\mu)[(1-B)+(A-B)(1-\alpha)]\Gamma(a+2\mu)} \left(\frac{2+\phi}{3+\phi}\right)$$

Proof. Suppose that $f \in H^{a,c}_{\mu}(\alpha,\phi;A,B)$ and f is given by (1.1). From (2.8)

$$a_{k} = \frac{(1+\phi)(2+\phi)}{(k+\phi)(k+\phi+1)}b_{k} \quad (k \ge 2),$$
$$\sum_{k=2}^{\infty} k |b_{k} - a_{k}| \le \sum_{k=2}^{\infty} k b_{k} + \sum_{k=2}^{\infty} k a_{k} \quad (a_{k} \ge 0, b_{k} \ge 0),$$

we obtain

(2.11)
$$\sum_{k=2}^{\infty} k |b_k - a_k| \le \sum_{k=2}^{\infty} k b_k + \sum_{k=2}^{\infty} \frac{(1+\phi)(2+\phi)}{(k+\phi)(k+\phi+1)} k b_k.$$

Next, since $g \in M^{a,c}_{\mu}(\alpha; A, B)$, from (1.10) of the Lemma 1 yields

(2.12)
$$\sum_{k=2}^{\infty} kb_k \le \frac{2\Gamma(a+\mu)(A-B)(1-\alpha)\Gamma(c+2\mu)}{\Gamma(c+\mu)\left[(1-B)+(A-B)(1-\alpha)\right]\Gamma(a+2\mu)}.$$

Finally, by making use of (2.11) on the right-hand side of (2.12), we find that

$$\sum_{k=2}^{\infty} k |b_k - a_k| \le \frac{2\Gamma(a+\mu)(A-B)(1-\alpha)\Gamma(c+2\mu)}{\Gamma(c+\mu)\left[(1-B) + (A-B)(1-\alpha)\right]\Gamma(a+2\mu)} \left(1 + \frac{(1+\phi)}{(3+\phi)}\right) = \frac{2\Gamma(a+\mu)(A-B)(1-\alpha)\Gamma(c+2\mu)}{\Gamma(c+\mu)\left[(1-B) + (A-B)(1-\alpha)\right]\Gamma(a+2\mu)} \left(\frac{2(2+\phi)}{3+\phi}\right) = \delta.$$

Thus, by definition (2.1) with g(z) interchanged by f(z), $f \in N_{\delta}(g)$. This, evidently, completes the proof of Theorem 4.

3. Integral means inequalities

We shall need the concept of subordination theorem of Littlewood [7] in our investigation.

Lemma 3. (Littlewood's theory [7]). If the functions f(z) and g(z) are analytic in U with $g(z) \prec f(z)$ then

(3.1)
$$\int_{0}^{2\pi} \left| g(re^{i\theta}) \right|^{\tau} d\theta \leq \int_{0}^{2\pi} \left| f(re^{i\theta}) \right|^{\tau} d\theta \quad (\tau > 0; 0 < r < 1).$$

Theorem 5. Let $f \in M^{a,c}_{\mu}(\alpha; A, B)$ and suppose that

(3.2)
$$f_2(z) = z - \frac{\Gamma(a+\mu)\Gamma(c+2\mu)(A-B)(1-\alpha)}{\Gamma(c+\mu)[(1-B)+(A-B)(1-\alpha)]\Gamma(a+2\mu)}z^2,$$

 $then \ for \ \tau > 0, z = r e^{i \theta} (0 < r < 1),$

(3.3)
$$\int_{0}^{2\pi} \left| f(re^{i\theta}) \right|^{\tau} d\theta \leq \int_{0}^{2\pi} \left| f_2(re^{i\theta}) \right|^{\tau} d\theta$$

Proof. From (3.1), it would suffice to show that

$$1 - \sum_{k=2}^{\infty} a_k z^{k-1} \prec 1 - \frac{\Gamma(a+\mu)\Gamma(c+2\mu)(A-B)(1-\alpha)}{\Gamma(c+\mu)[(1-B) + (A-B)(1-\alpha)]\Gamma(a+2\mu)} z.$$

By setting

$$1 - \sum_{k=2}^{\infty} a_k z^{k-1} = 1 - \frac{\Gamma(a+\mu)\Gamma(c+2\mu)(A-B)(1-\alpha)}{\Gamma(c+\mu)[(1-B) + (A-B)(1-\alpha)]\Gamma(a+2\mu)} w(z),$$

we find that

$$(3.4) |w(z)| = \left| \sum_{k=2}^{\infty} \frac{\Gamma(c+\mu)[(1-B) + (A-B)(1-\alpha)]\Gamma(a+2\mu)}{\Gamma(a+\mu)\Gamma(c+2\mu)(A-B)(1-\alpha)} a_k z^{k-1} \right| \\ \leq |z| \sum_{k=2}^{\infty} \frac{\Gamma(c+\mu)[(1-B) + (A-B)(1-\alpha)]\Gamma(a+2\mu)}{\Gamma(a+\mu)\Gamma(c+2\mu)(A-B)(1-\alpha)} a_k \\ \leq |z| \leq 1,$$

by using (1.10). Hence $f(z) \prec g(z)$ which readily yields the integral means inequality (3.3).

4. Partial sums

In this section we will study the ratio of a function of the form (1.1) to its sequence of partial sums defined by $f_m(z) = z$ and $f_m(z) = z - \sum_{k=2}^m a_k z^k$, when the coefficients of f(z) are sufficiently small to satisfy the condition (1.9). We will determine sharp lower bounds, for $\Re \int (\frac{f(z)}{f_m(z)} \int), \Re \int (\frac{f_m(z)}{f(z)} \int), \Re \int (\frac{f'(z)}{f'_m(z)} \int)$ and $\Re \int (\frac{f'_m(z)}{f'(z)} \int)$. In what follows, we will use the well known result

$$\Re\left(\frac{1-w(z)}{1+w(z)}\right) \qquad (z\in U)\,,$$

if and only if

$$w(z) = \sum_{k=1}^{\infty} D_k z^k,$$

satisfies the inequality $|w(z)| \leq |z|$.

Theorem 6. Let $f \in M^{a,c}_{\mu}(\alpha; A, B)$, then

(4.1)
$$\Re\left(\frac{f(z)}{f_m(z)}\right) \ge 1 - \frac{1}{D_{m+1}} \qquad (z \in U, m \in \mathbb{N}),$$

and

(4.2)
$$\Re\left(\frac{f_m(z)}{f(z)}\right) \ge \frac{D_{m+1}}{1+D_{m+1}} \qquad (z \in U, m \in \mathbb{N}),$$

where

(4.3)
$$D_k = \frac{\Gamma(c+\mu)[(1-B)(k-1) + (A-B)(1-\alpha)]\Gamma(a+k\mu)}{\Gamma(a+\mu)\Gamma(c+k\mu)(A-B)(1-\alpha)}.$$

The estimates in (4.1) and (4.2) are sharp.

Proof. Employing the same technique used by Silverman [12]. The function $f \in M^{a,c}_{\mu}(\alpha; A, B)$ if and only if $\sum_{k=1}^{\infty} D_k z^k \leq 1$. It is easy to verify that $D_{k+1} > D_k > 1$. Thus

(4.4)
$$\sum_{k=1}^{m} a_k + D_{m+1} \sum_{k=m+1}^{\infty} a_k \le \sum_{k=2}^{\infty} D_k a_k < 1.$$

Now, setting

$$D_{m+1}\left\{\frac{f(z)}{f_m(z)} - \left(1 - \frac{1}{D_{m+1}}\right)\right\}$$

= $\frac{1 - \sum_{k=2}^m a_k z^{k-1} - D_{m+1} \sum_{k=m+1}^\infty a_k z^{k-1}}{1 - \sum_{k=1}^m a_k z^{k-1}} = \frac{1 + E(z)}{1 + Y(z)},$

and $\frac{1+E(z)}{1+Y(z)} = \frac{1-w(z)}{1+w(z)}$, then we have

$$w(z) = \frac{Y(z) - E(z)}{2 + E(z) + Y(z)} = \frac{D_{m+1} \sum_{k=m+1}^{\infty} a_k z^{k-1}}{2 - 2 \sum_{k=2}^{m} a_k z^{k-1} - D_{m+1} \sum_{k=m+1}^{\infty} a_k z^{k-1}}$$

which implies

$$|w(z)| \le \frac{D_{m+1} \sum_{k=m+1}^{\infty} a_k}{2 - 2 \sum_{k=2}^{m} a_k - D_{m+1} \sum_{k=m+1}^{\infty} a_k}.$$

Hence $|w(z)| \leq 1$ if and only if

$$\sum_{k=2}^{m} a_k + D_{m+1} \sum_{k=m+1}^{\infty} a_k \le 1$$

which is true by (4.4). This readily yields (4.1).

Now consider the function

(4.5)
$$f(z) = 1 - \frac{z^{m+1}}{D_{m+1}}$$

Thus $\frac{f(z)}{f_m(z)} = 1 - \frac{z^m}{D_{m+1}}$. Letting $z \longrightarrow 1^-$, then $f(z) = 1 - \frac{1}{D_{m+1}}$. So f(z) given by (4.5) satisfies the sharp result in (4.1). This shows that the bounds in (4.1) are best possible for each $m \in \mathbb{N}$.

Similarly, setting

$$(1+D_{m+1})\left\{\frac{f_m(z)}{f(z)} - \frac{D_{m+1}}{1+D_{m+1}}\right\} = \frac{1-\sum_{k=2}^m a_k z^{k-1} + D_{m+1}\sum_{k=m+1}^\infty a_k z^{k-1}}{1-\sum_{k=2}^m a_k z^{k-1}}$$
$$\equiv \frac{1-w(z)}{1+w(z)},$$

where

$$|w(z)| \le \frac{(1+D_{m+1})\sum_{k=m+1}^{\infty} a_k}{2-2\sum_{k=2}^m a_k + (1-D_{m+1})\sum_{k=m+1}^\infty a_k}.$$

Now $|w(z)| \leq 1$ if and only if

$$\sum_{k=2}^{m} a_k + D_{m+1} \sum_{k=m+1}^{\infty} a_k \le 1,$$

which readily implies the assertion (4.2). The estimate in (4.2) is sharp with the extremal function f(z) given by (4.5). This completes the proof of the theorem.

Following similar steps to that followed in Theorem 6, we can state the following theorem

Theorem 7. Let $f \in M^{a,c}_{\mu}(\alpha; A, B)$, then

(4.6)
$$\Re\left(\frac{f'(z)}{f'_m(z)}\right) \ge 1 - \frac{m+1}{D_{m+1}} \qquad (z \in U, m \in \mathbb{N}),$$

and

(4.7)
$$\Re\left(\frac{f'_{m}(z)}{f'(z)}\right) \ge \frac{D_{m+1}}{m+1+D_{m+1}} \qquad (z \in U, m \in \mathbb{N}),$$

where $D_k, k \in \mathbb{N}$ is given by (4.3). The estimates in (4.6) and (4.7) are sharp with the extremal function f(z) is as defined in (4.5).

References

- O. Altintas, Ö. Özkan and H. M. Srivastava, Neighborhoods of a class of analytic functions with negative coefficients, Appl. Math. Letters, 13 (2000), 63-67.
- [2] M. K. Aouf, A generalization of multivalent functions with negative coefficients, Internat. J. Math. Math. Sci., 12 (1989), 193-502.
- [3] R. M. El-Ashwah and A. H. Hassan, Argument inequalities of certain subclass of multivalent functions defined by using new integral operator, Asian-European J. Math., 9 (2016), 1-6.
- [4] R. M. El-Ashwah and A. H. Hassan, Some properties of certain new subclasses of analytic functions, Proc. Pakistan Acad. Sci., 53 (2016), 1-16.
- [5] A. W. Goodman, Univalent functions and analytic curves, Proc. Amer. Math. Soc., 8 (1957), 598-601.
- [6] V. P. Gupta and P. K. Jain, Certain classes of univalent functions with negative coefficients, Bull. Austral. Math. Soc., 14 (1976), 409-416.
- [7] J. E. Littlewood, On inequalities in the theory of functions, Proc. London Math. Soc., 23 (1925), 481-519.
- [8] A. H. El-Qadeem and D. A. Mohan, Some properties of certain subclasses of analytic functions defined by using an integral operator, Submitted.
- [9] R. K. Raina and P. Sharma, Subordination preserving properties associated with a class of operators, Le Matematiche, 68 (2013), 217-228.

- [10] S. Ruscheweyh, Neighborhoods of univalent functions, Proc. Amer. Math. Soc., 81 (1981), 521-527.
- [11] H. Silverman, Univalent functions with negative coefficients, Proc. Amer. Math. Soc., 51 (1975), 109-116.
- [12] H. Silverman, Partial sums of starlike and convex functions, J. Math. Anal. Appl., 209 (1997), 221-227.

Accepted: 28.08.2018